HET1EIZ X R m A rE L SRIRe A T3 [17221505]
SRRSO T b uwdbiEg [221010]

T £ F=3 K R
2017/05/03 ~ 2017/05/05 24— O R s
BB OF W R P
BT xHHE I B
W E I T
HiF A 17 2 3L AT 5L 6L T 8L
SH4H A£5100m TR EAG) L1.00| (R #21h(2) 1115 KM =) 11230 MIE(n) 1124 |F2 . fk(2) 1127\ Ok DEARL(3) 11.29{5m R B2 A(3) 11.32 78 HEQ) 11.34
A1 BB 4 i) JEE 4 i) 4 i Bin Eee i FHL
SH5H A£5200m FAE JEAB) 21931k FI(3) 22.07|fH HR(E) 22.18|BHIR D) 22.19| Pl KH(2) 22.31[5RIL A AREIE) 22.38|BHIE FUE2) 22.56 [ PTA(3) 22.72
J8:70.5 S S E 4 i) B0 TTRALE 4 i P 4 i)z r*EFrm
5H3 115 400m (IR C) 48.57 B JOHE(2) 49.30| L4 ZaR(3) 49.64 (miTH HEFI(2) 50.36 [ JEK(3) 50.40 [k BEBL(3) 50.59[H A BLIH(2) 50.73 [ R B HH(3) 51.25
FTRAE *S,GR| B T R4 HE JBEF LR G2l B Fn 4 iR W
SH4H 1 5800m K HED) 2:00.46 [Fi 3% [EAv(3) 2:00.74 |54 HEEEQ) 2:01.35| +-4H {hid(2) 2:01.62| 8 Z&H1(1) 2:01.70| KJF HEHE(3) 2:01.85|j# A (3) 2:02.98| 4 1#:i(3) 2:03.38
vl gl AN T K4E BH EE JBF il e
5H3 £ 1500m IR F(2) 3:59.08|FA = (2) 4:04.36[ £ BEK(2) 4:07.41 (V5 A (3) 4:08.91|NH FEQ) 4:11.26|)11%  FAEQ) 4:11.59 (5 H A7 (3) 4:15.46 [ 5F  F£55(3) 4:15.46
parsl *S | KN T K4E T K4E &IT% S 4 i P ST S
5H5H 1.5 5000m HA k) 15:47.60 A= FEF(3) 15:56.39|#34) #i71r(3) 16:02.53| (L $3F(3) 16:06.68 | ZA@3) 16:08.75[/MbK il d2(3) 16:19.73|/KBf  S13#(2) 16:38.26| = A HAT(3) 16:39.67
T LT RAE T T K4E Hifn Tk 4 i P E JB.fr:
5H3 JeH1iomH.067Tm) | EHE A EG) 14.91 %508 W) 15.35[ff M Ks2) 15.74[ B FFEB) 16.15( )21 BEtk(2) 16.37 | Mk ABH(1) 16.49| —FE% #£(3) 16.54
2.1 S 4 diJE T K4E T K4E 4 i P o] AR
sAaR | demaoomiooim B FFEG) 56.06|F-BF #R(3) 56.62| IR ACi(3) 56.63| H ELEF BEAT(3) 57.22|# FEK(©) 57.24( 1L SRHE3) 57.25|BIE {Aidh(3) 57.47| /M 2H(2) 1:00.32
) T T RAE JB.Fr #AH T JBBF L FTRALE il e
5A4R | demsooomscoonam | B HER(2) 9:34. 117K EAR) 9:46.42[ K% HA(B) 9:56.57| 74 #HIK(2) 9:57.00 [J5LH ffHR(2) 9:57.23 [k #A(3) 9:58.02 |4 JiR:(3) 10:04.53| =i HK(Q) 10:11.76
) A A TLRALE Eaay - TTRALE T Pl A
5H5H 1 535000mW AR BKRE) 21:24.70|3 b HEKHS(3) 22:35.14 A 525L(2) 23:39.81 =8 #iEk(3) 23:49.38[& K. M (3) 24:49.55[ (LI FF(3) 24:59.54 (& H HF(3) 27:18.83| Rldr #£(3) 27:20.58
W Fn *S,GR| TH *S| A Fn Ea 35 k] *S| TFf AR
HLRA4E 42.19|4 H R 7 42.53 [ILBF 42.79 (%% 43.03 [ 7AH 43.11 | F 43.75( T 43.91 | Hvi 44.30
R ) VeIl A am(2) PN INCY) S ZEHh(3) ARG EE3) e KFN BEIEQ2) Ver AR BREQ)
5440 £ %4X100mR IR Z2HH(3) ESII P N )] T4 FRIEG) FH H%R2) B k@) i A E(3) S %93(2) KA HTRQ)
LH K@) FEIRF F%(2) (ITIR I 6)) NG TRER(2) Bl AEHH3) A1 (3) FittE 5 1(3) e AR
ARG K (2) MEAS Akd(1) A S PNG)) NEE BEE) ey - INE)) A ik (2) A H8F Fé (3) i 1A
FHELRAE 3:17.05 (44 A =P 3:20.95(4 A= 3:21.50 [ ILBF 3:22.35| kS 3:23.36 | =4 3:25.52| T-Hi 3:25.65 (240 3:28.61
AR Af(2) *S,GRIHA BLEI(2) TNk EGE2) +45 FRIG) INBR E2R2) BIE ANE2) Htt%f F4(3) NG ThRER(2)
5A50 LB 4X400mR IR Z2HH(3) VeIl Aam(2) U B R(3) R JEAB) i A E3) AR EE3) FittE 5 h(3) FH H5H2)
TEE Q) Elﬂ“r fi2%5(2) g #iE2) (ITIR I 6)) A EE(3) B AEHH3) KFN BEIEQ2) S AH(3)
HPH RHE(2) el fiAREA2) i 2.1 P .NE)) i e16)) B B#E3) S s (2) PR D)
e ) 1mO3| i s (2) 1m85 | FARAt: ¥ F(3) 1m80|fiH M (3) 1m80 =) AR Im75[#k EE(3) Im75|# )7 SAE3) 1m70
SA4H P Eaaiy -1l *S| Tl FHIL FHIEH EoE AHRHAL JiBF
#®iE o) 1m80
BHFn
o NH fHE]3) 3m80[/NE #:(3) 3m40
5A4H A BBk e Ssk
5A3H - Mgy KAL(l)  6m81(-0.1)[%H =(3) 6m78(+2.6)|FkR BAAR)  6m76(+1.1)| R Y(2) 6m65(+2.0)| AT KAH(3)  6mbAGLE)|IFE EHB)  6mb3GLD[AIH F&EB)  6mb2(+0.7)[#E)7 H(3) 6m49(+0.6)
44 AT EVE JEF AaemT7(-0.2)| 4 1 R BAE ETRAE BEER] [AR] s JEF
5H5H = vk AT FEER)  13m61C-L.8)|IEH EH@B3)  13m60(+0.1)[#& 5 Hi(3) 13m34(-0.8)[#J BAA)  12m92(+0. D[R #aK(©2)  12m85(+0.2)[ (L F Mi%(3)  12m85(-0.6)[ILH #IFH(2)  12m83(-0.2)| %A #¥(3) 12m49(-0.1)
iN:E] BN *S[ 4R T R4E JBEF JBfr: AHT
SA5H 1t P ELE6.000ke) mE RAEF3) 14m77 (5% % K@) 14m31|iTH HEARER(2) 13m24| & A I R Q) 13m08| ik 5 1(3) 12m18|fAy () 12m06 |fi - #341(3) 1Im81 |7 HKER3) 11m57
) FH IR *S[& B A *S|#& B A IR FLRALE B AR AR
sk | ammmaGswe | BL EKG) 43m21|FEH B E3) 36m28|HIH HR2) 36m23 |7k T URER(3) 35m79|fiA FEEL(3) 35m64| [T HEE(2) 33m39 (I AHEQR) 32m96 | W) 31m94
) AR *S| 40 iR RN A iR *S | H I FH I Ect sl AR
sA3H | Aot | 20T ERQ) 48m39 [y HEAQ) 44m19[IIT Tik(3) 44m13[7HE FHUKER() 43m50 [ ARIC SEiH2) 41m50 (¥R HhIEQR) 38mll [ H IZE®R) 30m40
i 4R HLss ok g A iR BB FEAAT JLEF
SH5H 17500 £(8008) R FRAERG) 59m78| A #(3) 57m82|fE A HETL(3) 54m40| /5 ACRI(3) 54m35|FF E - #E(3) 54m25 | RS FEAH(3) 53m31[/KEF #Hh(3) 53m02 |y #H(2) 50m79
AR iR *S |4 AR T T RAE %R EAF AR Ect il
B4R E FELRAE 5 AR 55 5 | B 3853 | F% H R 35.54 |4 R TE 325 | P 2953 [WIF0 27.55 | A 235
KRS YS i FELRAE 66 53 | 5551 385 | I EF 2653 |4 R 2653 |4 TR T 2053 [WIFn 195 | A 1645 | I Fr: 1448
sz —nt [ REHE 35554 R 29 53 |4 R TG/ (L 1281 s 1258 IR|BTR4E 9| BN 8.5




HET1EIZ X R m A rE L SRIRe A T3 [17221505]
SRRSO T b uwdbiEg [221010]

2017/05/03 ~ 2017/05/05 Al gﬂ? i
ruz B Ow W R P
#zr%% H R I B
W E I T
H A A 17 2fi 3fi AL 5L 6L 7hE 8fi
SH4H Ak4100m JEFTE ML) 12.42[ K48 ERFI(1) 12.64[#0H 77 9(3) 12.65[3 8k #51 (3) 12.66|% 1 FLE(3) 12.67[EK 3x (1) 12.80[ K% HETV3) 13.05{FEiR YHIR(1) 13.19
E:1.3 B i) WE AR A B R B EH 1L
SH5H e 4200m FFETE ML) 25.18|B% E2(3) 25.35|FRH Hi%E(3) 25.89 175 F072(3) 25.96 (%2 FLEL(3) 26.53[E T ELHEE3) 26.59[ K% W 3E(©2) 26.66 IR YDHB(1) 26.80
Jil:-1.7 B EEAE o] SR P il FHn il 1L
5H30 1t Le400m CEETE) 57.08| KT BEJH(1) 57.87 |1 B li3E(2) 59.88[H-H W¥(2) 1:00.44 | li] FH 5THE(2) 1:00.62[#5AK 70 Fn(3) 1:00.72| 930 F43(2) 1:00.85|FH A (3) 1:00.96
B *S | B g T R0 Wi Bin 4 WA
sH4A 1 42800m HE HERG) 2:16.75|#% E£HQ) 2:17.09[ A M) ZFRHE3) 2:19.78| & H # (1) 2:22.55 f&f EEAG) 2:23.34 (i FR®G) 2:24.22|FR 1L E£Z2(1) 2:24.56| At FHEH(3) 2:28.25
A *S| B JBBF prsl WY B EiE
5H3 Ik 1500m #H EAQ 4:40.54[B~7 FEHE(2) 4:43.42[F 1) Z=HRE(3) 4:43.92(3F F BER(3) 4:46.64 4:49.92[ZH 13572(3) 4:51.64 (010 AREQR) 4:52.63[HE HEA(D) 4:55.27
) vl B JEER o] *S | E A T8 THE BE
. 1 A3000m 57 5 (2) 9:53. 13 BF ¥4 (2) 10:04.62| 22 i (3) 10:05.50 | BFi: HLIE(1) 10:09.08| 418 ZFE(3) 10:32.62(JFH %4(3) 10:37.45| M2 A1) 10:43.47 |42 E1-(3) 10:45.58
) EEAE *S| Tl R 50 JEEF T BE e
SA3A Je£100mH(O.838m)  [ILIFH 2(3) 15.29| %/ EAR0) 15.34|FER £k J4(2) 15.66 B 1#(2) 15.76|Fk2 HER(Q2) 15.82[# (1) 15.82| K Th(1) 16.12|f1 #H(3) 16.15
2.1 B1Fn AR 4 i P 4 R P 4 i P Al EEAE E
SH4H 1 £2400mH(0.762m) %R W03) 1:05.99 (1L E(3) 1:06.19[83AK fE3(3) 1:06.29( 3747 BE3(Q2) 1:06.58 [ LH#E3) 1:06.63[ A H(2) 1:06.68 [ H1pE ELEH(3) 1:08.28|f #b3%(3) 1:09.09
) A& H IR WYFN R R0 Hin JEEF A H E
SH5H —— 1 EAHR(3) 26:57.46|FHF  HA(3) 28:10.14| £ LifE®3) 28:23.34 R FLI(3) 29:15.62 [ 4 7%(3) 29:46.77
) T *S | HE A S E TLRALE W
EE 48.03| 0 48.18 %18 48.90 (4 A =P 49.46 (11 H 49.51 T 49.53 (B Fn 50.25(% T. R4 & 50.65
ARG (1) *S|E T EAEQ) AR FHQ2) T 750 2=(3) A Ene) e EWEG) AR WI3) DA 6
5A4H A £24X100mR B E1(3) B a1 bR E07(3) kIR HERE(2) i BLEG) T i 2(2) fie] FH 5 HE(2) Kl ZHH3)
FrH Hi%Q) HHE Q) £ OVe72(3) =k Q) e LML) T 1575 (2) FER () IR NTTRE(2)
Ko BRFHI) ITHE #H Q) B HliEQ) BEMH RTH(2) R VDHB(L) AR AC)) I E(3) Spep JpRA (1)
BRI 3:57.45] %50 3:58.70 %Pl 4:02.25| TH& 4:03.48|FAFn 4:03.76| % & = 4:05.72| 505 4:07.08| 4 K 4:10.06
K BRFHI(1) *S|KEF HIVN) B M) W fnfEe) g VDFNE3) W BR3) I?k F43(3) TRl Q)
545H A £c4X400mR #hEE (1) HHE Q) WA FHQ2) TTEF i 2(2) fi] FE 5 3E(2) FEH 2RTH(2) B ALE®B) W50 F42(2)
[ e k(L) HH EIH() AR EAE) iR 167(2) TN EHE3) BB HERE(2) Em e (3) i #y3%(3)
Jb b HERG) [ e ) £ O7e7=(3) Bl A E(3) hH G3) —k 2aTE) i B HnE) I B ZR(1)
SASH Fi— EHOREQ) 1m65 (5 AR (2) 1m65 | 2R FZBE (3) 1m50 AF-'][JJ HER(2) 1m45 (Mt AR 1m45 (i s (2) 1m45|HA ZE1-(1) 1m40[{H #H3%(3) 1m40
4 RS *S[HAAH *S| 4 bR 4R & ARV e TR AR EX *FA
SA3H F—— iﬁmﬁ R(2) 3m40( =k 272 1(3) 2m80 [ 77 An<UG) 2m40|ErH /NE(3) 2m20
BEAE *S |40 i R P *S |4 i R P 3
SA3H — Hill Q@) Smd6(r2.2)[#ky KHQ)  SmIBGLOIEA HEEQ)  5m09F0.6)[HA EEQ  sm04GLD[EE (1) 4mIT(+LA)| B A2J5(3)  4m82(+2.6)|FIJF ¥A&R(Q2)  4mB0(+0.9)| AT ETF(R3)  4m71(+1.7)
4 ZAR5mA0(+1.5)| T A i S A JIEEF ZAiBAm69(+1.2)| TR A 40
SA5H . I THEE)  1Ime2¢+1L D[R Q) 1Im57GHLE)|'EHE A¥E) 1Im01G0.D|AH 4@ 10m96(-0.D)[ILH F24)(2)  10ma7(+2.8)| & H #i(1) 10m211.3)[ILTF (1) 10mo7(-1. D[ #2/5(3)  10m03(+0.4)
— THE EY Ean =t B & AR £x3810m35(-0.9)| F R E JBEF
SA3H JE A AL (1.000ke) AR TREER) 12m20 5 E#i(D) 11m02| HEH ZL(3) 10m72| R LifiE(1) 10m41 |8k #ikx(3) 9Im98| KKy HHi(2) EECHE EERO) Im71 | E®3) 9m41
EE *S| LEF N N3 BRI PR H T Eets Bi#n
SH4E 1 e AL 000K) H R H3) 35m80 [ Ak TREER) 35m30 [$ikfH HHEE) 34m49 [ SR L) 31m65( %M #EH(3) 30m57 [ A Q) 30m48 [/l A -(3) 29m92 | Ei(1) 29m49
BN *S| A E;ﬁa £ TG AR JBfr: JBEF
. S i pE%EE) 41m01 [ +JF Z Q) 35m94 [k 3 (3) 30m22 (L2 3%(3) 14m03
PIISH Ak BA00 |y b R o bR
SA5H L6000 EEIEE10) 45m23 (SR Z=WL(3) 3Tm55 [k H #FAER) 35m23[8a A BA3) 34m87 [/ H ik (3) 32m56 (A BFEE(D) 30m68|{E K FLE1(3) 29m79[ k4 7Z5(2) 27m45
il GR|4 #L BRI TR Gy =i AR Gy =t i V| s
LA =P 11848 &% 56 53 |4 il B TE 4655 | I EF 3045 | T 2753 |40 2653 [WIF0 2455 | R A8 1545
KRS YS L4 T s =P 7655 | B 53 | T 2153 [WIFn 18 |44 o R 7 1345 | A 1245 | I 11 | HHERE 65
oA 74— =P 4253 |4 T 33844 5 2641 [JILEF 1954 R 1 | Z5npg 8| FAFN/ Tt 6.5




